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(%fgo) FRECH 4AF0 14 5H14H BIA S 14 8H28H
1|7 3L k4R sz e < 0.0005 mg/Y < 0.0005 mg/iy
2| AR 0.0005 mg LLF < 0.0005 mg/y < 0.0005 mg/l%
3| AR A 0.00  mg BT < 0.0003 mg/y < 0.0003 mg/}y
418h 0.01 mg LA T < 0.002 mg/iy < 0.001  mg/i%
I PaYiZa=oA 0.05 mg LT < 002 mg/ly < 0.02  mg/Yy
6|t 0.0l mg BT < 0.001  mg/l% < 0.001  mg/%
UES IS RSNz & < 0.1 mg/ {7 < 0.1 mg/ 3
8| RV e 7 ==L SNz e < 0.0005 mg/i% < 0.0005 mg/l}
9|Fy T L 0.03 mg LT < 0.001  mg/ty < 0.001  mg/ly
0|5 ro7maFL 0.01 mg LIT < 0.001 mg/iy < 0.001  mg/i%
1| ramrzy 0.02 mg BAIF < 0.002 mg/ly < 0.002  mg/ty
12| bR 58 0.002 mg LULF < 0.0002 mg/l} < 0.0002 mg/lL
13|1, 2~ /mmox iy 0.004 mg BLF < 0.0004 mg/ty < 0.0004 mg/ly
14(1, 1->/maoxcFL 0.1 mg LT < 0.01 mg/ 7 < 0.01 mg/ 17
15|1, 2~/ FL 0.04 mg AR < 0.004 mg/l} < 0.004 mg/Yy
16(1, 1, 1-RVZum=xX&> 1 mg LI < 0.1 mg/ % < 0.1 mg/ 1%
1711, 1, 2-KN)runxiy 0.006 mg LLF < 0.0006 mg/y < 0.0006 mg/tY
18(1, 3-Yr7mnru~ 0.002 mg LT < 0.0002 mg/}y < 0.0002 mg/}y
19|F 7 F A 0.006 mg LLF < 0.0006 mg/ty < 0.0006 mg/ly
201>~ 0.003 mg AT < 0.0003 mg/ii < 0.0003 mg/t%
21(FA BT 0.02 mg LT < 0.002 mg/ly < 0.002  mg/ly
22( = 0.01 mg LITF < 0.001 mg/i} < 0.001 mg/ix
23[L 0.01 mg BAIF < 0.001 mg/ly < 0.001  mg/l}
24|1, 4-A %W 0.05 mg LT < 0.005 mg/iy < 0.0056 mg/iy
o5l 7mm=gL 0.002 mg LT < 0.0002 mg/ty < 0.0002 mg/Y




